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1. Answer the followmg questlons b 1><7 7
wore W Beqfm 3 ‘

(a) In case of gas Wlth the increase of
temperature v1scosﬂ.y coefﬁ01ent .

"c'm mmmmﬁmﬁmwr«

W X :
() increases = (?lTCti)
(i) decreases - - (FW)

(iii) remains 'same (9= )
(iv) None of the above .



(b) Write the principle of superposition of

waves.
SRR TeifReATeR M |
(c) Write Huygen’s principle of wave theory
of light.

(AT SR UG JREWA Aot i |

(d) Define stationary wave.
ey ool et et

(e) In which of the followmg phenomena

the division of wave front phenomenon

is applied ?

oal 2

(i) Fresnel’s biprism
R fafEe

(ii) Newton’s ring
o] Sigfo

(iii) Michelson interferometer
T[RRI 6!

(iv) Thin film
ofee i
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In Lloyd’s mirror the expression of
fringe width is

A AAS #bEed 2o I 24

i p= dfl

(i) p=

e 2D,1
(iv) None of the above S
897 18 A A

(g) Write the unit and dunensmn of surface
© ' tension.

SO T3 W Wl Rl

Answer the following questlons 2X4=8 ;

9\.:} \\_s‘,
woTe ARl eMiRs Bed s
(a) Define constructwe and destruc
prmpays dinterferencescw sit SN .
L) ’Explam double refraetlon wi
“’h&lrv e TS o G =1
'{ JL{I “?{j Qi‘w '
ot ()i Wntq the dxffggenx
"‘i\ ?&"Jﬂza}?}xsh.m L?Sli ‘i{



(d) Compare between progressive and
stationary waves.

AN S Qg RO Dol 41|

Answer the following questions : (any three)
5x3=15

were Al ol SR T ¢ (Rirezar o6

(@) Find out the expression of resultant
displacement for superposition of two
oscillations having equal frequencies.
If the two oscillations are in same
phase, what will be the resultant
displacement ? 4+1=5
WOl GG IR (Mo CoRoiens CFae
& IO oA I Sfest | oiew WO 9@
TS AR o1 7= [ =32

(b) (i) Write the laws of length and
tension of transverse vibration in

a stressed string. : 2
DTS OIFT SEiR IR (IS (T S
BiS 3@ 7ot forat |

(i) A wave moves with velocity
360m/s having frequency 440Hz.
What will be the path difference
between two positions if the
corresponding displacement in
phase is 7 radians? 3
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440Hz I™7I53q O35 @6t 360m/ s
@51 5ifS IR ™I ML 7 @CTTS
! 7ol Ra WeT #Ae sty [Fam =32

(c) Establish the relation between pressure
due to surface tension and radius of
curvature of a liquid surface.

I 2PBIT BI7l AF SR IF BT IR
e T affwt 71 |

(d) Define amplitude and velocity
resonance and find out its condition.
2+3=5
RER OIF @9 SFEmE ke 7@ S 339 5%
oiet |

(e) () What is the umt of mtensﬁyrof
‘sound? T Sears ! ‘-1

o '-";",','_*Tq_ W mﬁ? < 2 2 w;'t‘:p

() In a market mtens1ty of sound is f

60 decibel in the mormng and xts,' :

What is the increase in amphtu,
of the air molecules ? ’

aﬂWMWM@ C
oiF i Sie 2R qW 90 Coft
wﬁmaﬁmaqﬁi’m




Answer the following questions : (@any three)
10x3=30

oS Al oR el i ¢ (R o)

Define plane polarised and
circularly polarised light. 2

Wmﬁwmq@ﬂwﬁw (AR
e et |

(@ ()

(ii) State and establish Brewster’s law.
3

R D! ol i o

(1)
quarter wave plate. 2Y2+2%2=5
TEeRs] A W el Ses KI

fert |
(b) (i) Define phase velocity and group
velocity. Find out the relation
between phase velocity and group
velocity. 2+3=5

IR e ORI A W@ | st
TF BREON W T=9$ Tei |
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35T
Write about half wave plate and = -

AV T
s 5
AR ) ¥
Y ,».‘gﬂzi‘r o
R
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(1)

© )

()

(d @)

(%)

Explain Young’s double-slit

experiment. S
2eq fa-fewd 9wl gl 40

Write the differential equation of
S.H.M. and solve it. 1+4=5
e A SIS SRITG AR Rl et

i AT AN 34 |

Find out the expression of K.E.
and P.E. associated with S.H.M.
S

1 RIS e TS wive sifeife wie
oo aoma™ SRt g

Find the area and radius of nth

- Fresnel’s half-penod zone i S

Calculate the mass of watgfif
flowing in 10 minutes through a
tube of 0:1cm diameter and 40
long if there is a constant press
1:96 x 103 Nm=2.
(Given, coefficient of viscos

water is 89 x 10-° dekapoise) 5



3 517l 1:96 x 103 Nm—2'® 4 SFr®
0 lcm [P OF 40 cm WK T@ll e
TR 10 RA6S RIS @RI AR &1
OfeeRt | (A7 SR, SRR FES! Qe
89 x 10-5 dekapoise)

(e) Explain the interference phenomenon
for reflected and transmitted system in
thin films.

A SR (e 2fdTlee s Fefe My
AR TR 24591 IR F0 |

() Write short notes on any two of the
following : ' 9%x2=10

&} Rt g9 oY GRe o ¢
() Zone plate
e IR

(i) Resolving power of a grating

cafoes Reemm o
(i) Lissajous figures

fewre foa

3 (Sem-4/CBCS) PHY HG/RC/G 8 4500




{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

